KANGARQOO
KABINETS

Joey Companion Caddy
Congratulations on the purchase of your new Joey Companion Caddy. Every effort has been taken to
ensure your complete satisfaction with this custom designed product. For your convienience the Joey
Companion Caddy is supplied in one ready to assemble pack.

Helpful Assembly Hints

Read the instructions carefully before starting. Check to see that all the parts are included. Work in a spacious area
preferably on a carpet or soft surface. You will need a phillips head and flat head screw driver for the assembly. A
cordless drill is preferable. Ensure the phillips head screwdriver fits neatly and fully engages the screw head. Failure
to do this may result in screw damage. Make sure you tighten all the screws securely and tap dowels all the way in.

Warranty Information

G-day mate! We warranty our product for 1 year from date of shipment for manufacturer’s defects or shipping
damage within the first 15 days. The warranty does not cover damage caused by abuse, mis-use, alteration, accident,
or neglect of the product. The warranty does not cover damage caused by moving the cabinet fully loaded. Under
the terms of this warranty the repair and replacement of any parts shall be at the discretion of the company or their
designated representative.

Replacement Part Shipping Policy

To help protect our valuable resources, we ship all replacement parts out at the same time. This procedure lessens
the use of packaging materials and fossil fuels used in transportation keeping our world for all kangaroos and the
people like you a cleaner place. Please help us in this endeavor by reviewing all parts in all boxes for damage before
calling or e-mailing us to report damage. We adhere to our environmental philosophy by only shipping replacement
parts out 1 time for free. Future parts requests will be billed at the customer’s expense.

Caddy Care

Your Joey Companion Caddy normally requires a minimum amount of maintenance, however the

following points are worth noting:

CLEANING - To remove marks and enhance the surface, wipe over with a general purpose cleaner.

CAUTION - Do not use ammonia based cleaning agents. Do not use harsh chemicals or abrasive cleaners.
The surface can be wiped with a damp cloth but should be dried quickly.

If you have missing or damaged parts please call Kangaroo Kabinets at 1-800-533-7347

Also visit our website: www.kangarookabinets.com of Arrow Sewing Cabinets




Joey Assembly Instructions

COMPOMENTS DESCRIPTION aty || COMPONENTS DESCRIPTION | QTY
D Cam Bolt 24mm 8 == Key I;|;I1:_‘ { 1
8 Cam 15 x 12mm 8 |——— —
- Dowel & x 30mm 18 SO _; lock &Key | 1
A = (A) Screw 3.4 x 15mm B
E  @wma- | (E)Screw3x25mm | 3 | & ek 3
F | - {F) Screw 4 x 16mm 12 e
=) - ﬂastér Washer 4
]
o, Extension Caster 4
- Caster Wrench 1
S — Cam Bolt
E_‘] Cam 15 x 10mm
| @ e Screw 4 x 32mm 12
__‘.—_-,;' Drawer Runners® 3 sets
i’fi, Button Handle + Screw | 6
- Glue Bottle 2
-
&] Stabilizer Wedge 6

*Excludes pre-attached Drawer Runners on Drawer Sides

Page 2




Joey Assembly Instructions

Joey Storage Cabinet panels and their descriptions éQ

b
Belore asssmbling
place 2 1o 3 drops
of glue in sach
dowel hole.

- _E --
5 - - - H k.

Middie Drawer Front

Drawer Botlom (x3)
Bottom Drawer Back

Step 1: Gather Top Panel (A). Screw Cam Bolts into Panel (A) as shown. Attach the Lock
Striker using 2 (A) Screws.

<

Lock Striker

===
[A) Screw x 2

K==

Cam Bolt 24mm x 4

Page 3



Joey Assembly Instructions

Step 2: Gather Bottom Panel (B). Screw Cam Bolis into Panel {(B) as shown.

=
Cam Bolt 24mm x 4

Step 3: Gather RfH End Panel (D). Place 2 to 3 drops of glue into each dowel hole on the
edge of Panel (D) and insert 4 Dowels. Insert Cams ensuring the arrow points toward

ﬁ the closest edge, Attach Right Drawer Runners to Panel (D) using 4 (F) Screws.
Diowel x 4 Note:
Arrow on Cam
@ points owands
the closest adge

Cam 15 x 12mm x 4

N

|Right Drawer Runners x 2

[ -

(F) Screw x 4

RH End

Page 4



Joey Assembly Instructions

&

Diowel x 4

&

Cam 15 x 12mm x 4

-~

Left Drawer Runner x 2

-

(F) Screw x 4

Step 4: Gather L/H End Panel {C). Place 2 to 3 drops of glue into each dowel hale on
the edge of Panel {C) and insert 4 Dowels. Insert Cams as shown. Attach Left Drawer
Runners using 4 (F) Screws

Arrow on Cam

peints towards
the closest edge1

r
Runner LIH

Step 5: Place Glue in Dowel holes on Panel (B). Attach Panel (C) and (D) to Panel {B)

Ingar
Cam Boll

Half fum
Clockwise

1o Tighten.

Fage 5



Joey Assembly Instructions

Step 6: Gather Back Panel (E). Apply a small bead of Glue to the grooves on Panels [C)
and (D). Slide the Back Panel (E) into the grooves of Panels (C) and (D} as shown, with
thie beige face towards the inside of the Cabinet Assembly. II;J—=I:_EJ

\

{

Step 7: Gather Top Panel {A). Place 2 fo 3 drops of Glue in the Dowel holes in Panel {A)
and attach Panel (A) to Cabinet Assembly as shown. Secure the Top by turning Cams
clockwise one half turn. With the help of two people rotate the Cabinet over onto its top.

A, nsart
Cam Bol

Page &




Joey Assembly Instructions

Step 8: Guide the Extension Casters through the Caster Washers and screw into holes
provided as shown, use the Caster Wrench to tighten. Rotate Chest back upright

Step 9: Attach Drawer Runners to inside and bottom of the Cabinet sides using 4
(F) Screws as shown.

:.r
Drawer Runners x 1 set

Hmm

(F) Screw x 4

RM Runriar

Step 10: Gather Top Drawer Front (F). Screw Cam Bolts into the Drawer Front as showr)

- Attach the Lock using 3 (E) Screws. Add
Cam Boltx 2

b r——
(E} Screw = 1

S

Key Hole

t into hole as shown.

FPage T




Joey Assembly Instructions

B

Cam 15 x 10mm x 4

.

Dowel x 4

L.
Cam Boltx 2

Etap 11: Gather Parts iEI llj- and fﬂj Place Glue in each Dowel hole in the Drawer Sides
and insert 4 Dowels, Insert Cams into the Drawer Sides as shown., Screw in Cam Bolts
into the Middle Drawer Fro

L EH
Arrcrs 0n Carm
points wands
the cleses] edipe

=
Screw 4 ¥ 32mm x 4

¥

Stabilizer Wedge x 2

&,

Button Handle x 2

Gy,

Handle Screw x 2

|Front (F) to Drawer Sides (G) and "-!,!: SECune
|Cams. Attach the Drawer

]
¥

Step 12: Gather parts (J) and (F). Atiach Drawer side (G} and (I} to Drawer Back [H} using
(4} 4 x 32mm Screws as shown. Slide the Drawer Bottom — 3 Half am
() inte Drawer Side grooves as shown. Place glue info___ - s P ——"
Dowel Holes in Drawer Front (F), then attach

Handles as shown.

Turn Drawer owver,
attach Drawer

Stabilizers in the middle
of the Drawer Back and
press firmly into the groove.
Then screw into place. Repeat
into the Drawer Front as shown.

Mote:

Do not screw in the
Stabilizers too tight.
Plastic may crack

if over tightened.




Joey Assembly Instructions

i} ——
Screw 4 x 32mm x 4

3

Stabilizer Wedge x 2

Button Handle x 2

i

Handle Screw x 2

|Etap 13: Gather parts (J} and (K}. Attach Drawer side (&) and (I} to Drawer Back [H]
using {4) 4 x 32mm Screws as shown. Slide the Drawer

Bottom (J) into Drawer Side grooves as shown. 1. Ingart 2. Half tummy

‘Fln:e glue into Dowel Holes in Drawer Front (F, et fﬁ:ﬁ
| then attach Front (K) to Drawer Sldu (G} and (1)

'secure Cams. Attach the : /ﬁ@)

Drawer Handles

- as shown. S

Turn Drawer over,
ch Drawer
tabilizers in the middle
of the Drawer Back and
press firmly into the groove,
Then screw into place. Repeat
into the Drawer Front as shown

Mote:

Do niot screw in the
Stabilizers too tight.
Plastic may crack

if over tightened.

®

Cam 15 x 10mm x 2

ol

Dowel x &

By
Cam Bolt x 2

Step 14: Gather parts (M), (0) and (L). Place glue in each Dowel hole in the Drawer
Sides and insert & Dowels. Insert 2 Cams into Drawer Sides as shown. Screw 2 Cam

Bolts into the Drawer Front (L).

FPage 9



Joey Assembly Instructions

) —

Screw 4 x 32mm x 4

fl

Stabilizer Wedge x 2

Button Handle x 2

N

Handle Screw x 2

Step 15: Gather Parts (M), (N), (O) and (L). Attach Drawer Side (M) and (O) to Back (N}
using (4) 4 x 32mm Screws as shown. Slide Drawer 1. Inesd 2 Hadl bum

Bottom into the grooves on the Drawer Sides, Carm Bolt chckwse
Place Glue into the Dowel hales e o Sighdan
in the Drawer Front. Attach -
Drawer Front to Drawer
Sides as shown.
Secure Cams.

Attach Button Handles
as shown. Turn Drawer over,
attach Drawer Stabilizers in
the middie of the Drawer Back
and press firmly into the :
groove. Then screw into
place. Repeat into
the Drawer Front as
shown,

Step 16: Insert Drawers onfo the runners in the Cabinet. Ensrue the Locking Drawer is
positioned to the top and the large Drawer is on the Bottom Runners. Lock the Top
Drawer to make moving easier.




